






No. Description Q'ty
1 M16 x 90 bolt 8
2 M12 x 80 bolt 2
3 M10 x 75 bolt 2
4 M10 x 70 bolt 4
5 M10 x 45 bolt 12
7 M10 x 20 blot 4
8 M16 nut 8
9 M12 nut 2
10 M10 nut 16
11 16 washer 16
12 12 washer 4
13 10 washer 38

PARTS LIST

1

Hardware Package•

6"5"4"3"2"1"0

16 cm1514131211109876543210

Attached for Frames•

14 12 x 80 elastic cylindrical pin 1
15 12-19-24 power meballurgy cover 4
16 60 tube plug 5
17 7560 tube bushing 4
18 38 popper pin 1

Packed in the Box•

 x 2 pcs19  x 2 pcs20  x 2 pcs21

 x 7 pcs

114 pulleys

22  x 6 pcs

90 pulleys

23

 x 2 pcs24

14 12 x 80 elastic cylindrical pin 1
15 12-19-24 power meballurgy cover 4
16 60 tube plug 5
17 7560 tube bushing 4
18 38 popper pin 1



27  x 20 pcs

2

PARTS LIST

 Packed in the Box•

 x 1 pc26

 x 1 pc36

 x 2 pcs37

 x 1 pc39  x 2 pcs40

 x 2 pcs29

 x 1 pc31

 x 1 pc34

 x 2 pcs38

 x 2 pcs35

 x 1 pc32

 x 1 pc25

 x 1 pc28

16

 x 1 pc30

16

14

17

18

 x 1 pc33



7

1x2

1x2

1x2

3

ASSEMBLY

Step 1.

Tighten the bolts.



2

3

4

1x2

4

7

ASSEMBLY

4

Step 2.

Tighten the bolts.



ASSEMBLY

5

Cable 1.

5-6

7-8

26  x 1 pc

4

START
1

2-3

START

7
4

6

3

1

2

5

5

55

5

5

4

5

8



10

5

5

5

11

12

13

4

6

ASSEMBLY

Cable 2.

10

13

11

12

28  x 1 pc



ASSEMBLY

7

The included 2 to 1 cable 
adapter has been included 

for use with attachments that 
require a single carabiner 

connection point. Using this 
adapter will distribute force 
evenly through the cables, 

preventing long-term issues 
like twisting and damage.


	2106 STK-PULT-MA 220808
	2106 P1
	2106 P2
	2106 P3
	2106 P4
	2106 P5



